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HISTORY — GENERAL
Paper : DSE-B-2
(Some Aspects of Society and Economy of Modern Europe : 15th-18th Century)
| Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Answer any three questions : 53
(a) What do you understand by the Manor system?
(b) What is ‘Civic Humanism®?
(c) Why did the Reformation Movement first occur in Germany?
(d) Who were the Anabaptists?
(e) Write a brief note on Nicolo Machiavelli.
(f) How did Amsterdam emerge as the most important financial centre in the seventeenth century
Europe? Discuss.
2. Answer any one question : 10x1
(a) How did the rediscovery of the classical literature influence European Renaissance?

(b) Assess the role of John Calvin in the history of Reformation.

3. Answer any fwo questions : 20x2
(a) To what extent internal contradictions were responsible for the decline of feudalism in the West?
(b) Why did Renaissance begin in Italy in general and Florence in particular?
(¢) Determine the success of Martin Luther as a central figure of Reformation in Germany.

(d) How did the production for the market in the sixteenth century transform European agriculture?



